

$$\lim_n^m = a \quad \lim_{mn}^{mn} = b \quad \lim_{mn}^{mn \times n} = b \Rightarrow 1 + \lim_{mn}^n = b \Rightarrow 1 + \frac{1}{\lim_n^m} = b \Rightarrow 1 + \frac{1}{\lim_n^m} = b$$

$$\Rightarrow 1 + \frac{1}{1+a} = b \Rightarrow \frac{a+1}{a+1} = b \quad \frac{a+1}{a+1} < b < \frac{a+1}{a+1} \Rightarrow 1 < b < 2 \Rightarrow [b] = 1$$

الف  $y = \sqrt{\frac{x}{\lim_{\frac{1}{x}}}}$

$$\lim_{\frac{1}{x}}^x = 0 \Rightarrow x = \left(\frac{1}{x}\right)^0 = 1$$

$$\frac{x}{y} \left| \begin{array}{cc} 0 & 1 \\ -1 & 1 \end{array} \right| -$$

$$\lim_{\frac{1}{x}}^x \rightarrow x > 0$$

$$Df = (0, 1)$$

ب  $y = \frac{\lim_{\frac{1}{x}}(x^2 \cdot x \cdot y)}{\sqrt{x^2 - 1} + 1} \rightarrow \lim_{\frac{1}{x}}(x^2 \cdot x \cdot y) \rightarrow x^2 \cdot x \cdot y > 0, (x-1)/(x+1) > 0$

$$\frac{x}{y} \left| \begin{array}{cc} -1 & 2 \\ 1 & -1 \end{array} \right| +$$

$$\sqrt{x^2 - 1} \rightarrow x^2 > 1 \Rightarrow \begin{cases} x > 1 \\ x < -1 \end{cases}$$

$$Df = (-\infty, -1) \cup (1, \infty)$$

$$(-\infty, 1) \cup (1, \infty)$$

$$2 \lim_x^a + \lim_{\frac{1}{a}}^{\sqrt{x}} = 2 \quad \lim_x^{a^2} + \frac{1}{x} \lim_x^x = 2 \Rightarrow \begin{cases} a > 0 \\ a \neq 1 \end{cases}$$

$$\lim_x^{a^2} + \lim_{a^2}^x = 2 \Rightarrow \lim_x^{a^2} + \frac{1}{\lim_x^{a^2}} = 2 \Rightarrow t + \frac{1}{t} = 2 \Rightarrow t^2 - 2t + 1 = 0 \Rightarrow (t-1)^2 = 0 \Rightarrow t = 1$$

$$\lim_x^{a^2} = 1 \xrightarrow{x=2} \lim_2^{a^2} = 1 \Rightarrow a^2 = 4 \Rightarrow a = 2 \text{ صحیح}$$

$$a = -2 \text{ غلط}$$

$$\lim_2^2 = 0, 3 \quad \lim_2^2 = 0, 2 \quad \left( \lim_{\frac{2}{x}}^2 \right) x^2 + (\lim_2^2) x - \lim_{\frac{2}{x}}^2 = 0$$

$$1 - \lim_2^2 = \lim_2^2 \Rightarrow \lim_2^2 = 0, 1$$

$$(\lim_2^2 - \lim_2^2) x^2 + (2 \lim_2^2) x - (\lim_2^2 + \lim_2^2) = 0$$

$$\Rightarrow 0, 3 x^2 + 0, 1 x - 1, 1 = 0$$

$$3x^2 + 1x - 11 = 0 \Rightarrow \frac{\sqrt{D}}{2a} = \frac{\sqrt{44 + 132}}{6} = \frac{12}{6} = 2$$

$$\lim_2^2 = 2, 1 \quad \lim_2^2 = 0, 5 \quad \lim_{1, 2}^1 = ?$$

$$\lim_2^2 = \frac{\lim_2^2}{\lim_2^2} = \frac{2, 1}{2} = 1, 05 \quad \lim_{1, 2}^1 = \lim_{1, 2}^1 + \lim_{1, 2}^2 = \frac{1}{\lim_{1, 2}^1} + \frac{1}{\lim_{1, 2}^2} = \frac{1}{\lim_2^2 + \lim_2^2} + \frac{1}{1 + \lim_2^2}$$

$$\frac{1}{1, 05 + 0, 5} + \frac{1}{1 + 2, 1} = \frac{1}{1, 55} + \frac{1}{3, 1} = \frac{2}{3, 1} = \frac{10}{15}$$

$$\begin{aligned} g_{rr}^{\omega} &= 1, \omega \\ g_{rr}^r &= 1, r \\ g_{r\omega}^r &= ? \\ g_{rr}^{\omega} &= \frac{g_{\omega\omega}^{\omega}}{g_{rr}^r} = \frac{1, \omega}{\frac{1}{1, r}} = \frac{1r}{\omega} = r, \omega \end{aligned}$$

$$\frac{1}{f_{10}} = \frac{1}{f_r} + \frac{1}{f_c} = \frac{1}{f_r \cdot f_c} = \frac{1}{f_c + f_c} = \frac{1}{1.4 + 1.6} = \frac{1}{3} = 0.33$$

$$\frac{1}{r} \frac{dy^{\text{II}}}{dy} = \frac{1}{r} \left( \frac{dy^{\text{I}}}{dy} \right) = \frac{1}{r} (1 + r \frac{dy^{\text{I}}}{dy}) = m$$

$$\Rightarrow r m = 1 + r \frac{dy^{\text{I}}}{dy} \Rightarrow \frac{r m - 1}{r} = \frac{dy^{\text{I}}}{dy} \Rightarrow \frac{dy^{\text{I}}}{dy} = \frac{1}{r} \frac{dy^{\text{II}}}{dy} = \frac{1}{r} (1 + r \frac{dy^{\text{I}}}{dy}) = \frac{1}{r} (\frac{r m - 1}{r} + 1) = \frac{r m - 1}{r}$$

$$\begin{aligned} (0, \varepsilon)^{r_{x-1}} &= \left(\frac{1 \cdot 0}{\wedge}\right)^{r_x} \quad \text{by } (r_{x+1}) \\ \left(\frac{0}{\vee}\right)^{r_{x+1}} &= \left(\frac{0}{\vee}\right)^{r_x} \\ \left(\frac{0}{\vee}\right)^{r_{x+1}} &= \left(\frac{0}{\vee}\right)^{r_x} \Rightarrow (r_x = -r_{x+1}) \Rightarrow r_x + r_{x+1} = 0 \Rightarrow \frac{(x+2)(x-1)}{p} \begin{cases} x_1 = \frac{c}{p} = -1 \text{ odd} \\ x_r = \frac{1}{c} \text{ even} \end{cases} \\ \text{by } r_{x+1} &\Rightarrow r_{x+1} > 0 \Rightarrow x = \frac{1}{q} \quad \text{by } \frac{1}{c} + 1 = \text{by } \frac{1}{\wedge} = \frac{1}{c} \text{ by } r = \frac{1}{p} \end{aligned}$$

$$\begin{aligned} \log_r c &= a & \log_r b &= \frac{r}{c}(1+a) & \log_r b &= \frac{r}{c}(1+\log_r c) \Rightarrow \frac{1}{r} \log_r b = \frac{1}{r} \log_r c \Rightarrow \log_r b = \log_r c & (9) \\ \log_r c^{b-1} &= \log_r (c \times c^c)^{-1} & & & & & \\ &= \log_r 100 = r & & & & & b = c^c \end{aligned}$$

$$- (ax^y + bx + \frac{1}{r} C) \quad \frac{1}{\alpha + \beta} = \log L \quad a = \frac{b+C}{r} \rightarrow b = ra - C$$

$$\frac{1}{\alpha + \beta} = \log \xi \Rightarrow \frac{1}{5} = \frac{\xi a}{b} = \frac{\xi a}{\gamma a - c} = \log \xi = \gamma \log \gamma \rightarrow \frac{\gamma a}{\gamma a - c} = \log \gamma$$

$$\rightarrow \frac{r_a - c}{r_a} = \log \frac{1}{r} \rightarrow 1 - \log \frac{1}{r} = \frac{c}{r_a} \Rightarrow 1 - \log \frac{1}{r} = \frac{c}{a}$$

$$\left(r^{-\frac{1}{\lambda}}\right)^{\frac{c}{a}} = \left(r^{\frac{c}{a}}\right)^{-\frac{1}{\lambda}} = \left(r^{\frac{c}{a} \cdot \frac{1}{r}}\right)^{-\frac{1}{\lambda}} = \left(\frac{c}{1..}\right)^{-\frac{1}{\lambda}} = \Delta^{\frac{1}{\lambda}} = \sqrt[\lambda]{\Delta}$$